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& 1,235,646
= 2,681,416
SgA XA 28 & 2% 9,600 9,600 0
202 0idl 9,600 9,600
01 =LHO4b| 9,600 9,600
O2AX& gRF& ol 9,600,000& 9,600
FAZAXS(ERX) 3,034,070 2,843,896 190,174
& 1,213,628
= 1,820,442
308 AXISHMSOIH 3,034,070 2,843,8%6 190, 174
= 1,213,628
= 1,820,442
08 WFI| 2SS = 3,034,070 2,843,89%6 190,174
ORASA XA 3,034,070,000& 3,034,070
& 1,213,628
= 1,820,442
stuga SEEA KA 800,000 800,000 0
308 AXISHMSOIA 800,000 800,000
08 WEI|Z0CHEtE = 800,000 800,000
Ostugal SEEA NJAAE
800,000,000& 800,000
s 2H =4 183,480 186,000 A2,520
| 110,088
T 22,018
= 51,374
301 LB F 183,480 186,000 A2,520
| 110,088
& 22,018
[ 51,374
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